ATV Arctic Cat TRV EFI

(dns Modenel nocne 2009z2.)

Material: Aluminium

HavmeHoBaHue 3awwTa Komnnektauus ‘.. ‘..
B @ ] @
OcH.yacTb 40.1733 2 x bont M8x20 v v
10 x BuHt M6Xx20 M6 = 9.8 Nm M8 = 24 Nm

2 x BuHt M6x30
4 x BuHt M8x25

12 x LLlan6a 6
6 x LLlanba 6I"

6 x LLlanba 8
6 x LLanba 8I

16 x BuHT M8x20
Moporu 40.1539 12 x H[ 28000

2 x bont M8x20
2 x Lllanba 8

Pbiyaru 40.1517 10 x BonT M8x20

10 x LWan6a 8 40°1 733

/ Bns Mmopenewn \
2013 roga

40.1517

40.1539

AnA mopenen

2009-2012 roy

190020r.CIN6 Ha6.06BoaHOro kaHana a. 150 ren: (812) 495-95-49, 335-05-25



